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P g SR
2 W B #E7E Boal R
Bp 32 AF07TH07 H 18 H eI oo o 70 kv (BiiA)
fh 4 JE Hh = (Mo | E=E e T fE g2y ]
IENE H R 10. 00| AHxf 83 830 2,160| 1,848| 1,296
H X k¥ 15. 00 | ¥ 368 5, 520 972 694 11
X 5D BOE 10. 00 | AH%F 400 4,000| 1,004 914 648
H % o 3. 00| FHxf 315 945 1,404| 1,108 648
i A ] 1L 1. 00| FHxf 240 240 1,296| 1,040 432
&= | 5000 FE%E| 1] 5| | 3,240
AN ™5 5. 00| FHx%f 120 600 2,592 2,192| 1,296
N 0.40| k%t |  480] 92| 157 43 86
EEL = 4. 00| fHxf 634 2,536 1,728] 1,413 702
[N = 5. 00 | #H %} 20 100 1,944 1,458 864
EN N 5.00[ #A%H|  a97] 2,485 1,944| 1,629 756
B— F ) 5. 00 | #H %} 9 45| 2,430 2,202| 1,944
EN N 0.15|4A%k| 1,410 213 or| o4 86
A7 k= b AbiEiE 3. 00| FH%f 435 1,305| 2,592| 2,409| 1,944
(= = 2. 00| FH%f 17 34| 2,484 1,626] 1,080
H ik w5 5. 00| FH%f 170 850 2,160| 1,995| 1,728
A—=T 4 £ I% 10. 00 [ #H%f 76 760 1,728
£ A L 10. 00 | #H%f 648 6,480 1,512 1,188 810
L&A £ B 10. 00 | AH%F 871 8,710 1,296| 1,014 648
P=—lH A & ¥ 4. 00| FHxf 478 1,912 1,026 794 648
L xon & A 4. 00 | FHxF 6 24 6, 480
AEMEE w5 0. 10| FHxf 1, 900 190 162 91 11
ZDXH E % 0. 20 | FHx} 1, 200 240 54 48 43
LU E % 0. 20 | FHx} 150 30 72
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P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz AFI07T4:07 H 18 H eI Dt e/ 45 b (Biir)
i 4 JE = Wae | %K F i fiE T fE g2y ]

PE i % 5. 00| FH%} 430 2,150| 5,940 3, 780
BEIT IR ECE 6l 64| 6,480 4,239| 2 160

FIT T xR 0. 30 | #H 5%} 960 288 410 328 292
v —x ] 1L 2. 00 | FH %} 14 28| 4,320| 4,011| 3,888
% A4 0. 50 | FH %} 1, 656 828 626 452 378
7T A e 5. 00 | FH %} 100 500 3,780| 3,278 2,700
[N o 16. 00| fHxf 1,706 27,296  5,949| 4,295 2,160
/NETE K el 10. 00 [ #H%f 27 2701 4,536| 3,836 2,916
Avava 7 4 U E | 13.00| fH%F 14 182 4,104| 3,448 3,132




